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SOUTH SYDNEY HIGH
SCHOOL

YEAR 10 - MATHEMATICS
(ADVANCED)

GRADING TEST

INSTRUCTIONS:

Place alf answers in the spaces provided.
Show all necessary working,

Marks will be deducted for untidy work,
All questions are NOT of equal value,
You have 1 hour o complete this task.
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Question 1 (20 marks)

(2)

(b)

()

(d)

()
®

Use your calculator to find to 2 decimal places (2m)
(i) 1.3+2.58
\N7.6

gy

- Express the following in increasing numerical order :

0.5, 045, = |2
50 V11 (1m)
The half-life of Uranium 235 is 5 470 000 000 years. Express this in
scientific notation, (1m)
x3y5
xy’ (Im)
Find the value of x if 2¥ =+/2 (1m)

Expand and simplify the following;

@ 2{3x—y)~(y+5x)

(2m)
(i) (3x—4y)

(2m)

Iy 2z 1.1 2
(iii) [x3 —y3J(x3 +x3y3 +y3J

(3m)
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2 2
© 1t 224 5 find the value of X2
2x-2y xy

(31)-1)

h
® Make y the subject of the formula: 1 1.1

(2m)

(i)  Giventhat V =k? andif V =12 when r =2, find the valuc of V

when r =3,

(2m)
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Question 2 (22 marks)
(8  Find the value of x in the following:

(i) 3.r+1 - 9

(I m)
(ii) 42x+1 - \/ﬁ

(2m)

(b)  Evaluate the following:

(D log, 81

(1m)
(ii) 1

%5125

(2m)
(iif)  log,,100

(2m)
iv) log 5 04

(2m)
(v)  log,27+log,81

(2m)
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vi )
W) Iogsxfzg—logsé

(2m)
(¢ 1If log, (2x+1)=4log, 2; find the value of x
(2m)
(d) If log, a =1.38 evaluate the following:
® log, Ja
(Im)
()  log,3a
(2m)
() If logp=logg—-2logr, circle the correct statement below.
® p=g-2r @) p=q-r’
— . _4
(111) p_ 21" (lV) p rz (Ifn)
® If log,x= logyx , find y correct fo 2 decimal places,
log,,
it 57 =120
(2m)
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Question 3 (8 marks
@ R

v

PQRS is a rectangle. The coordinates of Q are (0,~1).

(i) Find the coordinates of R.

(Im)
(i)  Find the coordinates of P.
(1m)
(iiiy  Find the area of rectangle PORS.
(2m)
(b) (i) Bvaluate log, (log,16)
(2m)
(ii) Simplify
log, (x2 —3x) ~log, (x-3)
(2m)
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Question 1 (20 marks)
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Use your calculator to find to 2 decimal places
@ 13+2.58

6 =\ .,..,%va@
(i) $42r L 2. ASN&@ _

muﬁm the %oaoéﬁm in increasing numerical order :

ekl ._e.,ﬁw.
AR S TR , ~3 . Mxm.l
0.5, 0.45, —, , |- . =2, e % it
50° V11 IR S am
The half-life of Uranium 235 is 5-470:000.000 years. Express this in
scientificnotation. - & 4~ w .\o» (Im)
3. ) C
Xy -
=y = X3 (Im)
= %.-l \
Find the value of x if wu NG (1m)
.N.w - UPJ\MM.
Expand and simplify Eo following:
® 2(3x-y)~(y+5x)
= B = Tm = — 3
3T \r
=4 |_.h. I..W‘.HV _\
© {2m) .
(i) Amxlm@,vn C
= A = A v e
(2m)
s AT i
Q‘m.u h |u\..— H.u .THwU»unTVuuu
.
4 ¥
RS v&\&\%\wﬂ I\N\K \u\-
/
= e |,V \
(3m)

(2m)
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@ 2y o e valus of 222
2x22y Xy .
o 32w
N[]Ul.ﬁvr LRV I o =% ra
7L —=
u,..,.r.v - ﬂﬁurerJ . -7 R
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= T E Y/
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k! (3m)
IS
2
@ Make y the subjact of the formula: 111
X y z

NS 2 o . L)

x 7z

(V..«l...nun.u =
rWlh\.rL.LUl .\
nVﬁN,_.u& = %=

(@m)

® Given that V= \e‘v andif V =12 whenr=2, mba the value of V'
when r=3.

[ L
e/
V= Wrm\_

Vool
v

“

N2 LY

(2m)
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Question 3 ($ marks) RN

a

@ N i
¥ =3 N oy
, y=log,x

T\ﬁb% lla“.m. \
!
no.\ﬂmm.n.. MMWMO

PQRS is a rectangle. The coordinates of Q are (0,-1).

(i)  Find the coordinates of R.
Tl L \
rl%

. \
. e g =2 m..h .W. -
o / 2 (1m)
(i) Find the coordinates of P.
.
BN
a2 £ ﬁD 9]
33/ V4
Ty Y erlw (Im)
(i) Find the avea of rectangle PQRS.
Ax (deax Sac” 3
= %
\?. = V.mu ® - \
. AT
2
arnp?. B a’l”l’ {(2m)
(6) () Evaluate log, (log,16)
legy < “ouvﬁw. A LE
- s .
RSN ,@»a #ne3 .
s/ (5 em
(i) Simplify e
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